Examples of power estimates

ASSUMPTIONS: Proportion 1 =0.60, Proportion 2 = 0.50

QUESTION: What sample size is sufficient for a two-tail test (alpha = 0.05) with power =0.80 to be able
to statistically detect a decrease in the proportion between groups of .10?

Central and noncentral distributions | Protocol of power analyses
critical z =1.95996 A4
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Test family Statistical test
’z tests v] ’F’rupurtiu-ns: Difference between two independent proportions v]

Type of power analysis

’A priori: Compute required sample size - given o, power, and effect size v]
Input Parameters Qutput Parameters
Tail{s) Critical z 1.9599640
Proportion.p2 f 0.e Sample size group 1 388
Proportion pl 0.5 Sample size group 2 388
o err prob 0.05 Tatal sample size 776
Power{1-§ err prob) 0.80 Actual power 0. 8006720

Allocation ratio M2 /N1 1



Provide a plot of various proportional in group 2 with an allocation ratio of 1:1

Power (1-p arr prob)

Z tests - Proportions: Difference between two independent proportions
Tail(s) = Two, Proportion pl = 0.5, o« err prob = 0.05, Allocation ratio N2 /N1 = 1
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Provide a plot of various proportions for group 2 with an allocation ratio of 1:2

Input Parameters

Power (1-p err prob)

Proportion p2 0.6
Proportion pl 0.5

o err prob 0.05

Power (1-§ err prob) .80
Allocation ratio N2 /M1 2

QOutput Parameters

Critical 2 1.9599640

Sample size group 1 2580
Sample size group 2 579
Total sample size 85_9
Actual power U.SDU45{:':5

Z tests - Proportions: Difference between two independent proportions
Tail(s) = Two, Proportion pl = 0.5, & err prob = 0.05, Allocation ratio N2 /N1 = 2
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